X 518K (FEE) BN HK A
ety IRAIH H JEYE 4H 5H 68 | 74 8 H 9H | 108 | 11H |12A | 1A 2H 3H

1| — M 100LLF 0 0 0 0 0 0 0 0 0 0 0 0
2| K PUSIU D pape|  pat| mate| wawe vl el e | e we| e me
3[ BRIy A 0.00384F

47K 0.00052.

5L 0.01LLF

6|48 0.01LF

7|65 0.01L4F

8| A iz m 0.02L1F

9| i AH R HE 2 R 0.04L4F

10[z7 0.01L T <0.001 <0.001 <0.001 <0.001

1 gg%f%%ﬁ&nmﬁ 108 F 1.4

12|75 0.854F <0.08

13|RU % IR

14| HsEAb pR SR 0.00281

15(1, 4—A %4 0.05L1F

82500 27VTEE 6 o

IVIPZ4=1=3.2 9% 0.0280F

187 hrrmnFL 0.0124°F

19|N)ZanzFL 0.01L4F
20| B 0.01LF
21| FE 0.6LLF <0.06 <0.06 <0.06 <0.06
22|/ m s 0.02L1F <0.002 <0.002 <0.002 <0.002
23| 7aamL A 0.06L1 T <0.001 <0.001 <0.001 <€0.001
24| 7 a kg 0.03L4F <0.003 <0.003 <0.003 <0.003
25| T mEIHEAL 0.1F 0.001 0.002 0.002 <0.001
26| B Rk 0.01LLF <0.001 <0.001 <0.001 <0.001
27|}~ RZ 0.1F 0.001 0.004 0.003 <0.001
28| N7 0.03L4F <0.003 <0.003 <0.003 <0.003
29| 7 mEDymm AL 0.034F <0.001 0.002 <0.001 <0.001
30| 7 mEAL L 0.0981 T <0.001 <0.001 0.001 <0.001
3R LT VTR 0.08L1F <0.008 <0.008 <0.008 <0.008
32| Hh BT
BRI Vg =ty NN 0.2L0°F
348k 0.35LF
354 1T
36|~ L4 20081 F
37|~ H 0.05L0F
38|tk A4 20081 F 6.0 6| 5.0 6.0 6| 5.0 5.0 50| 6.0 6.0 6| 5.0
39 | i 30084 F 30
40|7EF IR 50081 F 74
41| RaA o FLiE M 0.2LF
ao|o A3 . 0'003‘;1 €0.000001
43 i;;iz’wwym/w\ 0.0032 <0.000001
44\FEAA L FUmTEEA] | 0.0284F
45| 7 = ) — L 0.00584F
46| F 3BUF 0.6 <0.3| <0.3] <0.3 <0.3] <0.3| <0.3 <0.3] <0.3| <0.3 <0.3] <0.3
47|pH 5.8~8.6 7.5 7.4 74| 74 75 75| 175 76| 74| 175 76| 7.3
50|t 5L <0.5 <1.0| <1.0] <1.0 <1.0] <1.0[ <1.0 <1.0] <1.0[ <1.0 <1.0] <1.0
51| 2BUF <0.2 <0.1| <0.1| <o0.1 €0.1| <0.1| <o0.1 €0.1| <0.1| <o0.1 €0.1| <o0.1

AKERRARERE ARt 70 A AR = 2ot




Fh X 5 2FR k% (AL ER) BN HK A
ety IRAIH H JEYE 4H 5H 68 | 74 8 H 9H | 108 | 11H |12A | 1A 2H 3H

1| — M 100LLF 0 0 0 0 0 0 0 0 0 0 0 0
2| K PUSIU D pape|  pat| mate| wawe vl el e | e we| e me
3[ BRIy A 0.00384F

47K 0.00052.

5L 0.01LLF

6|48 0.01LF

7|65 0.01L4F

8| A iz m 0.02L1F

9| i AH R HE 2 R 0.04L4F

10[z7 0.01L T <0.001 <0.001 <0.001 <0.001

1 gg%f%%ﬁ&nmﬁ 108 F 1.1

12|75 0.854F 0.08

13|RU % IR

14| Uk 0.00281

15(1, 4—A %4 0.05L1F

82500 27VTEE 6 o

IVIPZ4=1=3.2 9% 0.0280F

187 hrrmnFL 0.0124°F

19|N)ZanzFL 0.01L4F
20| B 0.01LF
21| FE 0.6LLF 0.13 0.12 0.12 0.08
22|/ m s 0.02L1F <0.002 <0.002 <0.002 <0.002
23| 7aamL A 0.06L1 T <0.001 <0.001 <0.001 <€0.001
24| 7 a kg 0.03L4F <0.003 <0.003 <0.003 <0.003
25| T mEIHEAL 0.1F 0.001 0.001 0.001 <0.001
26| B Rk 0.01LLF <0.001 <0.001 <0.001 <0.001
27|}~ RZ 0.1F 0.001 0.001 0.001 <0.001
28| N7 0.03L4F <0.003 <0.003 <0.003 <0.003
29| 7 mEDymm AL 0.034F <0.001 <0.001 <0.001 <0.001
30| 7 mEAL L 0.0981 T <0.001 <0.001 <0.001 <0.001
3R LT VTR 0.08L1F <0.008 <0.008 <0.008 <0.008
32| Hh BT
BRI Vg =ty NN 0.2L0°F
348k 0.35LF
354 1T
36|~ L4 20081 F
37|~ H 0.05L0F
38|tk A4 20081 F 8.2 8.0 7 7 6 6 6 6 8 8 8 8
39 | i 30084 F 28
40|7EF IR 50081 F 80
41| RaA o FLiE M 0.2LF
ao|o A3 . 0'003‘;1 €0.000001
43 i;;iz’wwym/w\ 0.0032 <0.000001
44\FEAA L FUmTEEA] | 0.0284F
45| 7 = ) — L 0.00584F
46| F 3BUF 0.6 <0.3| <0.3] <0.3 0.3| <0.3| <0.3 <0.3] <0.3| <0.3 <0.3] <0.3
47|pH 5.8~8.6 7.1 6.9 6.8 6.7 7.0 6.8 7.0 7.3 6.8 7.5 7.3 7.1
50|t 5L <0.5 <1.0| <1.0] <1.0 <1.0] <1.0[ <1.0 <1.0] <1.0[ <1.0 <1.0] <1.0
51| 2BUF <0.2 <0.1| <0.1| <o0.1 €0.1| <0.1| <o0.1 €0.1| <0.1| <o0.1 €0.1| <o0.1

AKERRARERE ARt 70 A AR = 2ot




[N & BN HK A
ety IRAIH H JEYE 4H 5H 68 | 74 8 H 9H | 108 | 11H |12A | 1A 2H 3H

1| — R B 100LLF 0 0 0 0 0 0 0 0 0 0 0 0
2| K PUSIU D pape|  pat| mate| wawe vl el e | e we| e me
3[ BRIy A 0.00384F

47K 0.00052.

5L 0.01LLF

6|48 0.01LF

7|65 0.01L4F

8| A iz m 0.02L1F

9| i AH R HE 2 R 0.04L4F

10[z7 0.01L T <0.001 <0.001 <0.001 <0.001

1 gg%f%%ﬁ&nmﬁ 108 F 0.37

12|75 0.854F 0.16

13|RU % IR

14| HsEAb pR SR 0.00281

15(1, 4—A %4 0.05L1F

82500 27VTEE 6 o

IVIPZ4=1=3.2 9% 0.0280F

187 hrrmnFL 0.0124°F

19|N)ZanzFL 0.01L4F
20| B 0.01LF
21| FE 0.6LLF <0.06 0.1 <0.06 <0.06
22|/ m s 0.02L1F <0.002 <0.002 <0.002 <0.002
23| 7aamL A 0.06L1 T 0.003 0.004 <0.001 0.001
24| 7 a kg 0.03L4F <0.003 <0.003 <0.003 <0.003
25| mErmn AL 0.1F 0.001 0.002 0.001 0.001
26| B Rk 0.01LLF <0.001 <0.001 <0.001 <0.001
27|}~ RZ 0.1F 0.007 0.01 0.002 0.003
28| N7 0.03L4F <0.003 <0.003 <0.003 <0.003
29| 7 mE AL 0.03L1F 0.003 0.004 0.001 0.002

30| 7 mEAL L 0.0981 T <0.001 <0.001 <0.001 <0.001

3R LT VTR 0.08L1F <0.008 <0.008 <0.008 <0.008

32| Hh BT

33| T A=A 0.2 <0.02

348k 0.35LF

354 1T

36|~ L4 20084 F

37|~ H 0.05L0F

38|tk A4 20081 F 4.9 5.0 5.0 4.0 4.0 4.0 4.0 4.0 5.0 4.0 4.0| 5.0
39 | i 30084 F 11
40|7EF IR 50081 F 43
41| RaA o FLiE M 0.2LF
ao|o A3 . 0'003‘;1 €0.000001
43 i;;jz’wwym/w\ 0.0032 <0.000001
44\FEAA L FUmTEEA] | 0.0284F
45| 7 = ) — L 0.00584F
46| F 3BUF 0.7 <0.3| <0.3] <0.3 <0.3] <0.3| <0.3 <0.3] <0.3| <0.3 <0.3] <0.3
47|pH 5.8~8.6 7.2 700 72| 74 7.3 7.1 7.1 7.3 72| 74 7.4 7.4
50| (4 5LLF 2.1 2 2 1 1 2 2 2| 2.0[ 2.0 1| 1.0
51| 2LLF <0.2 <0.1| <0.1| <o0.1 €0.1| <0.1| <o0.1 €0.1| <0.1| <o0.1 €0.1| <o0.1

AKERRARERE ARt 70 A AR = 2ot




FEKR BN HK A
ety IRAIH H JEYE 4H 5H 68 | 74 8 H 9H | 108 | 11H |12A | 1A 2H 3H

1| — M 100LLF 0 0 0 0 0 0 0 0 0 0 0 0
2| K PUSIU D pape|  pat| mate| wawe vl el e | e we| e me
3[ BRIy A 0.00384F

47K 0.00052.

5L 0.01LLF

6|48 0.01LF

7|65 0.01L4F

8| A iz m 0.02L1F

9| i AH R HE 2 R 0.04L4F

10[z7 0.01L T <0.001 <0.001 <0.001 <0.001

1 gg%f%%ﬁ&nmﬁ 108 F 0.47

12|75 0.854F 0.08

13|RU % IR

14| HsEAb pR SR 0.00281

15(1, 4—A %4 0.05L1F

82500 27VTEE 6 o

IVIPZ4=1=3.2 9% 0.0280F

187 hrrmnFL 0.0124°F

19|N)ZanzFL 0.01L4F
20| B 0.01LF
21| FE 0.6LLF <0.06 <0.06 <0.06 <0.06
22|/ m s 0.02L1F <0.002 <0.002 <0.002 <0.002
23| 7aamL A 0.06L1 T <0.001 <0.001 <0.001 <€0.001
24| 7 a kg 0.03L4F <0.003 <0.003 <0.003 <0.003
25| T mE OaE AR 0.1F <0.001 <0.001 <0.001 <0.001
26| B Rk 0.01LLF <0.001 <0.001 <0.001 <0.001
27|}~ RZ 0.1 <0.001 <0.001 <0.001 <0.001
28| N7 0.03L4F <0.003 <0.003 <0.003 <0.003
29| 7 mEDymm AL 0.034F <0.001 <0.001 <0.001 <0.001
30| 7 mEAL L 0.0981 T <0.001 <0.001 <0.001 <0.001
3R LT VTR 0.08L1F <0.008 <0.008 <0.008 <0.008
32| Hh BT
BRI Vg =ty NN 0.2L0°F
348k 0.35LF
354 1T
36|~ L4 20081 F
37|~ H 0.05L0F
38|tk A4 20081 F 4.5 5.0 4.0 4.0 4.0 4.0 4.0 4.0 4.0 4.0 4.0 4.0
39 | i 30084 F 14
40|7EF IR 50081 F 47
41| RaA o FLiE M 0.2LF
ao|o A3 . 0'003‘;1 €0.000001
43 i;;iz’wwym/w\ 0.0032 <0.000001
44\FEAA L FUmTEEA] | 0.0284F
45| 7 = ) — L 0.00584F
46| F 3BUF 0.6 <0.3| <0.3] <0.3 0.3| <0.3| <0.3 <0.3] <0.3| <0.3 <0.3] <0.3
47|pH 58~8.6 | 6.9 6.8| 6.7 6.6 6.6| 6.8 7 6.7 71 7.3 7 7
50|t 5L <0.5 <1.0| <1.0] <1.0 <1.0] <1.0[ <1.0 <1.0] <1.0[ <1.0 <1.0] <1.0
51| 2BUF <0.2 <0.1| <0.1| <0.2 €0.1| <0.1| <o0.1 €0.1| <0.1| <o0.1 €0.1| <o0.1

AKERRARERE ARt 70 A AR = 2ot




REBEIKFR BN HK A
ety IRAIH H JEYE 4H 5H 68 | 74 8 H 9H | 108 | 11H |12A | 1A 2H 3H

1| — M 100LLF 0 0 0 0 0 0 0 0 0 0 0 0
2| K PUSIU D pape|  pat| mate| wawe vl el e | e we| e me
3[ BRIy A 0.00384F

47K 0.00052.

5L 0.01LLF

6|48 0.01LF

7|65 0.01L4F

8| A iz m 0.02L1F

9| i AH R HE 2 R 0.04L4F

10[z7 0.01L T <0.001 <0.001 <0.001 <0.001

1 gg%f%%ﬁ&nmﬁ 108 F 0.5

12|75 0.854F 0.09

13|RU % IR

14| Uk 0.00281

15(1, 4—A %4 0.05L1F

82500 27VTEE 6 o

IVIPZ4=1=3.2 9% 0.0280F

187 hrrmnFL 0.0124°F

19|N)ZanzFL 0.01L4F
20| B 0.01LF
21| FE 0.6LLF 0.24 0.07 <0.06 <0.06
22|/ m s 0.02L1F <0.002 <0.002 <0.002 <0.002
23| 7aamL A 0.06L1 T 0.001 0.002 <0.001 <€0.001
24| 7 a kg 0.03L4F <0.003 <0.003 <0.003 <0.003
25| T mEIHEAL 0.1F 0.001 0.002 0.001 0.001
26| B Rk 0.01LLF <0.001 <0.001 <0.001 <0.001
27|}~ RZ 0.1F 0.003 0.006 0.001 0.001
28| N7 0.03L4F <0.003 <0.003 <0.003 <0.003
29| 7 mEDymm AL 0.03L1F 0.001 0.002 <0.001 <0.001
30| 7 mEAL L 0.0981 T <0.001 <0.001 <0.001 <0.001
3R LT VTR 0.08L1F <0.008 <0.008 <0.008 <0.008
32| Hh BT
BRI Vg =ty NN 0.2L0°F
348k 0.35LF
354 1T
36|~ L4 20081 F
37|~ H 0.05L0F
38|tk A4 20081 F 4.4 4.0 4.0 4.0 4.0 4.0 4.0 4.0 4.0 4.0 5.0 4.0
39 | i 30084 F 17
40|7EF IR 50081 F 53
41| RaA o FLiE M 0.2LF
ao|o A3 . 0'003‘;1 €0.000001
43 i;;iz’wwym/w\ 0.0032 <0.000001
44\FEAA L FUmTEEA] | 0.0284F
45| 7 = ) — L 0.00584F
46| F 3BUF 0.7 <0.3| <0.3] <0.3 <0.3] <0.3| <0.3 <0.3] <0.3| <0.3 <0.3] <0.3
47|pH 5.8~8.6 7.2 7.0 7.0 6.9 6.9 6.9 7.0 7.3 7.1 74 7.4 7.2
50|t 5L <0.5 <1.0| <1.0] <1.0 <1.0] <1.0[ <1.0 <1.0] <1.0[ <1.0 <1.0] <1.0
51| 2BUF <0.2 <0.1| <0.1| <o0.1 €0.1| <0.1| <o0.1 €0.1| <0.1| <o0.1 €0.1| <o0.1

AKERRARERE ARt 70 A AR = 2ot




Z8EKR BN HK A
ety IRAIH H JEYE 4H 5H 68 | 74 8 H 9H | 108 | 11H |12A | 1A 2H 3H

1| — M 100LLF 0 0 0 0 0 0 0 0 0 0 0 0
2| K PUSIU D pape|  pat| mate| wawe vl el e | e we| e me
3[ BRIy A 0.00384F

47K 0.00052.

5L 0.01LLF

6|48 0.01LF

7|65 0.01L4F

8| A iz m 0.02L1F

9| i AH R HE 2 R 0.04L4F

10[z7 0.01L T <0.001 <0.001 <0.001 <0.001

1 gg%f%%ﬁ&nmﬁ 108 F 1

12|75 0.854F <0.08

13|RU % IR

14| Uk 0.00281

15(1, 4—A %4 0.05L1F

82500 27VTEE 6 o

IVIPZ4=1=3.2 9% 0.0280F

187 hrrmnFL 0.0124°F

19|N)ZanzFL 0.01L4F
20| B 0.01LF
21| FE 0.6LLF <0.06 0.08 0.07 <0.06
22|/ m s 0.02L1F <0.002 <0.002 <0.002 <0.002
23| 7aamL A 0.06L1 T <0.001 <0.001 <0.001 <€0.001
24| 7 a kg 0.03L4F <0.003 <0.003 <0.003 <0.003
25| T mE OaE AR 0.1F 0.001 0.001 <0.001 <0.001
26| B Rk 0.01LLF <0.001 <0.001 <0.001 <0.001
27|}~ RZ 0.1F <0.001 0.002 <0.001 <0.001
28| N7 0.03L4F <0.003 <0.003 <0.003 <0.003
29| 7 mEDymm AL 0.03L1F <0.001 0.001 <0.001 <0.001
30| 7 mEAL L 0.0981 T <0.001 <0.001 <0.001 <0.001
3R LT VTR 0.08L1F <0.008 <0.008 <0.008 <0.008
32| Hh BT
BRI Vg =ty NN 0.2L0°F
348k 0.35LF
354 1T
36|~ L4 20084 F
37|~ H 0.05L0F
38|tk A4 20081 F 5.2 6 5 6 5/ 5.0| 5.0 4| 5.0| 5.0 5/ 5.0
39 | i 30084 F 25
40|7EF IR 50081 F 67
41| RaA o FLiE M 0.2LF
ao|o A3 . 0'003‘;1 €0.000001
43 i;;iz’wwym/w\ 0.0032 <0.000001
44\FEAA L FUmTEEA] | 0.0284F
45| 7 = ) — L 0.00584F
46| F 3BUF 0.6 <0.3| <0.3] <0.3 <0.3] <0.3| <0.3 <0.3] <0.3| <0.3 0.3| <0.3
47|pH 5.8~8.6 7.2 72| 72| 7.2 7.3 74| 75 7.4 74| 15 75 7.2
50|t 5L <0.5 <1.0| <1.0] <1.0 <1.0] <1.0[ <1.0 <1.0] <1.0[ <1.0 <1.0] <1.0
51| 2BUF <0.2 <0.1| <0.1| <o0.1 €0.1| <0.1| <o0.1 €0.1| <0.1| <o0.1 €0.1| <o0.1

AKERRARERE ARt 70 A AR = 2ot




WiEE KR BN HK A
ety IRAIH H JEYE 4H 5H 68 | 74 8 H 9H | 108 | 11H |12A | 1A 2H 3H
1| — M 100LLF 0 0 0 0 0 0 0 0 0 0 0 0
2| K PUSIU D pape|  pat| mate| wawe vl el e | e we| e me
3[ BRIy A 0.00384F
47K 0.00052.
5L 0.01LLF
6|48 0.01LF
7|65 0.01L4F
8| A iz m 0.02L1F
9| i AH R HE 2 R 0.04L4F
10[z7 0.01L T <0.001 <0.001 <0.001 <0.001
1 gg%f%%ﬁ&nmﬁ 108 F 0.42
12|75 0.854F <0.08
13|RU % IR
14| HsEAb pR SR 0.00281
15(1, 4—A %4 0.05L1F
82500 27VTEE 6 o
IVIPZ4=1=3.2 9% 0.0280F
187 hrrmnFL 0.0124°F
19|N)ZanzFL 0.01L4F
20| B 0.01LF
21| FE 0.6LLF <0.06 0.18 0.11 <0.06
22|/ m s 0.02L1F <0.002 <0.002 <0.002 <0.002
23| 7aamL A 0.06L1 T 0.01 0.025 0.015 0.006
24| 7 a kg 0.03L4F 0.006 0.021 0.011 0.006
25| T mE OaE AR 0.1F <0.001 <0.001 <0.001 <0.001
26| B Rk 0.01LLF <0.001 <0.001 <0.001 <0.001
27|}~ RZ 0.1F 0.012 0.029 0.018 0.008
28| N7 0.03L4F 0.014 0.029 0.016 0.008
29| 7 mE AL 0.03L1F 0.003 0.004 0.003 0.002
30| 7 mEAL L 0.0981 T <0.001 <0.001 <0.001 <0.001
3R LT VTR 0.08L1F <0.008 <0.008 <0.008 <0.008
32| Hh BT
BRI Vg =ty NN 0.2L0°F
348k 0.35LF
354 1T
36|~ L4 20081 F
37|~ H 0.05L0F
38|tk A4 20081 F 2.8 3[ 3.0 3.0 3.0 3.0 3| 3.0 3.0 31 3.0
39 | i 30081 F
40|7EF IR 50081 F 46
41| RaA o FLiE M 0.2LF
ao|o A3 . 0'003‘;1 €0.000001
43 i;;iz’wwym/w\ 0.0032 <0.000001
44\FEAA L FUmTEEA] | 0.0284F
45| 7 = ) — L 0.00584F
46| F 3BUF 0.7 0.4 0.5| 0.6 0.9] 0.6/ 0.7 0.6 0.3 0.4 05| 0.7
47|pH 5.8~8.6 7.3 71 71 7.1 71| 72| 7.3 72| 72| 7.6 7.4 7.3
50|t 5L 1.9 <1.0| <1.0] 1.0 1| 10| 20 1| <1.0| <1.0 1| 1.0
51| 2BUF <0.2 <0.1| <0.1| <o0.1 €0.1| <0.1| <o0.1 €0.1| <0.1| <o0.1 €0.1| <o0.1

AKERRARERE ARt 70 A AR = 2ot




FIRERK R BN HK A
ety IRAIH H JEYE 4H 5H 68 | 74 8 H 9H | 108 | 11H |12A | 1A 2H 3H

1| — M 100LLF 0 0 0 0 0 0 0 0 0 0 0 0
2| K PUSIU D pape|  pat| mate| wawe vl el e | e we| e me
3[ BRIy A 0.00384F

47K 0.00052.

5L 0.01LLF

6|48 0.01LF

7|65 0.01L4F

8| A iz m 0.02L1F

9| i AH R HE 2 R 0.04L4F

10[z7 0.01L T <0.001 <0.001 <0.001 <0.001

1 gg%f%%ﬁ&nmﬁ 108 F 0.68

12|75 0.854F 0.1

13|RU % IR

14| Uk 0.00281

15(1, 4—A %4 0.05L1F

82500 27VTEE 6 o

IVIPZ4=1=3.2 9% 0.0280F

187 hrrmnFL 0.0124°F

19|N)ZanzFL 0.01L4F
20| B 0.01LF
21| FE 0.6LLF <0.06 0.06 <0.06 <0.06
22|/ m s 0.02L1F <0.002 <0.002 <0.002 <0.002
23| 7aamL A 0.06L1 T 0.001 0.004 0.002 0.001
24| 7 a kg 0.03L4F <0.003 <0.003 <0.003 <0.003
25| T mEIHEAL 0.1F 0.001 0.002 0.002 0.001
26| B Rk 0.01LLF <0.001 <0.001 <0.001 <0.001
27|}~ RZ 0.1LLF 0.003 0.009 0.006 0.003
28| N7 0.03L4F <0.003 <0.003 <0.003 <0.003
29| 7 mE AL 0.034F 0.001 0.003 0.002 0.001

30| 7 mEAL L 0.0981 T <0.001 <0.001 <0.001 <0.001

3R LT VTR 0.08L1F <0.008 <0.008 <0.008 <0.008

32| Hh BT

BRI Vg =ty NN 0.2L0°F

348k 0.35LF

354 1T

36|~ L4 20081 F

37|~ H 0.05L0F

38|tk A4 20081 F 4.1 5.0 4] 4.0 4.0 4.0 4.0 5.0 5.0 5.0 5.0 4.0
39 | i 30084 F 37
40|7EF IR 50081 F 76
41| RaA o FLiE M 0.2LF
ao|o A3 . 0'003‘;1 €0.000001
43 i;;iz’wwym/w\ 0.0032 <0.000001
44\FEAA L FUmTEEA] | 0.0284F
45| 7 = ) — L 0.00584F
46| F 3BUF 0.8 <0.3| 0.3] 0.3 <0.3] <0.3| <0.3 0.3| <0.3] <0.3 <0.3] 0.3
47|pH 5.8~8.6 7.3 72| 73] 75 7.3 73] 74 72| 71| 7.3 7.4 7.2
50|t 5L <0.5 <1.0| <1.0] <1.0 <1.0] <1.0[ <1.0 <1.0] <1.0[ <1.0 <1.0] <1.0
51| 2BUF <0.2 <0.1| <0.1| <o0.1 €0.1| <0.1| <o0.1 €0.1| <0.1| <o0.1 €0.1| <o0.1
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19|N)ZanzFL 0.01L4F
20| B 0.01LF
21| FE 0.6LLF <0.06 0.07 0.06 <0.06
22|/ m s 0.02L1F <0.002 <0.002 <0.002 <0.002
23| 7aamL A 0.06L1 T 0.003 0.004 0.001 <€0.001
24| 7 a kg 0.03L4F <0.003 <0.003 <0.003 <0.003
25| T mEIHEAL 0.1F 0.002 0.003 0.002 0.001
26| B Rk 0.01LLF <0.001 <0.001 <0.001 <0.001
27|}~ RZ 0.1F 0.007 0.01 0.004 0.001
28| N7 0.03L4F <0.003 <0.003 <0.003 <0.003
29| 7 mEDymm AL 0.03L1F 0.002 0.003 0.001 <0.001
30| 7 mEAL L 0.0981 T <0.001 <0.001 <0.001 <0.001
3R LT VTR 0.08L1F <0.008 <0.008 <0.008 <0.008
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43 i;;iz’wwym/w\ 0.0032 <0.000001
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45| 7 = ) — L 0.00584F
46| F 3BUF 0.8 <0.3| 0.3] <0.3 <0.3] 0.3 <0.3 <0.3] <0.3| <0.3 <0.3] <0.3
47|pH 5.8~8.6 7.5 7.4 7.7 1.6 7.3 74| 75 7.3 76| 7.3 75| 7.4
50|t 5L 0.6 <1.0| <1.0] <1.0 <1.0] <1.0[ <1.0 <1.0] <1.0[ <1.0 <1.0] <1.0
51| 2BUF <0.2 <0.1| <0.1| <o0.1 €0.1| <0.1| <o0.1 €0.1| <0.1| <o0.1 €0.1| <o0.1
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